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Instructions:

1. All questions are compulsory.

2. Figuresto the right indicate full marks.

3. Make suitable assumptions wherever necessary.
4. Start new question on new page.

Q.1
A.

Q.2

Answer thefollowings.

Write short notes

1. Define truncation error

2. Define Absolute error

3. Define Mutually Exclusive events
4. Provethat (1+A)(1-V)=1

5. The mean and variance of Binomial distribution are and

respectively.
Multiple choice type questions/ Give the sentencetrue or false. (Each of 01 marks)
1. Newton’s first divided difference [X,, X,] =

@vi-¥% OLL (il gro

Xo=X X1=Xo .
2. The system of n linear equations in n unknowns is diagonally dominant if

@alzXfa]  oal<Xa  ©alz0  ©Xl=0

j# j j#

3. The coefficient of variation (C.V) is
@ 2%100 (b)) X*100 (© >  (d)noneof these
X S X

4. Which of the following method is a direct method?
(a) Gauss Seidel (b) Gauss Jacobi  (c) Gauss Elimination  (d) none of these
5. Which of the following is a transcendental equation?

(@ X*>-2x*+Xx+1=0 (b) cosx—xe*=0 (c) X*—2x—1=0 (d) Noneof these

6. Rounding off the number 80.758 to one decimal gives 80.76. (T/F)
7. Thetotal areaunder the normal curveis 1. (T/F)
8. The expected value E(x — m) = 0, wherem is the mean of the random variable x.
(T/F)
9. The necessary condition to find interval in which aroot of transcendental equation lies
isf(a).f(b)<O. (T/F)

10. The mean and variance of Poisson distribution are nq and pq respectively.  (T/F)
Answer thefollowing

1. If the Median and Mode of 10 observations are respectively 44.4 and 45.5.Find the Mean.

2. A and B are two independent events and P( A) = %, P(B) = % ,find P(AU B).

3. Write the normal eguations for the exponential function y = ae™

4. Find the mode of the following data:

Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

f(x) |5 9 11 13 10 7

5. Solve the following system of equations by using Gauss Jacobi method up to 2 iterations:
5x-2y+3z =-1; -3x+9y+z =2 ; 2x-y-72=3

6. For a Poisson Variate 3P(X = 2) = P(X = 4) . Find mean and variance.

(05)

(10)

(02)
(02)
(02)

(03)

(03)

(03)
(15)
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Q.3 Answer thefollowing (Any three)

1. Find the roots of the equation x3 - 4x-9=0us ng Bisection method up to 4™ iteration.
2. Solve the following system of equations by Gauss Elimination method:

2X-y+3z2=8; -X+2y+z=4; 3x+y-4z=0

3. From the following table, find f(3) using Newton’s Divided difference formula:

X 11278
fx) 15|54
4. The probability distribution of arandom variable
Randomvariable, x | 0 [1]2 3 |4
Probability 1/10 |p| 3/10|p | V10

(i) Find the value of p
(i) Find E(x+1)
Answer thefollowing.

Using Newton’s Forward interpolation formula, find the value of y for x=0.5 for the following data:

(i) Determine f (10) by Lagrange Interpolation from the following data:

X[o[1]2]3
y |1/2[1]10
x |56 |9 11
F(x) | 12| 13| 14| 16

(ii) If y isthe pull required to lift aload x by means of a pulley block, find alinear law of

the form y=mx+ ¢

y 12

15

21

25

X 50

73

100

120

(i) Solve the following system of equations by using Gauss- Seidel method correct up to 3

decimal places:

OR

12x+3y—-5z=1, x+5y+3z=28; 3x+7y+13z= 76

(i) The probability that abomb dropped from a plane will hit atarget is 2/5. Two bombs are
enough to destroy a bridge. If 4 bombs are dropped on a bridge, find the probabilities

that (i) The bridge will be destroyed
(i) The bridge will be partialy destroyed
(iii) The bridge will be saved

(05)

(10)

(10)
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